(2 =) (AT : )
= H 20FE VSRR J0F S e 18 (A) [Tm =
AN & E [10,734,500[10,794,300 A 59,800
EZEIEIS 3,404,400 3,482,400 73,000
SBFRRE 2,651,700 2,633,500 18,200
BICEN - BS5HEEIRE 1,791,200 1,971,200 A 180,000
WEBSEFEHFFER 180,000 0 180,000
HRSEE 2,707,200 2,707,200 O|ZItHi50E 18
H 7 B 2,311,000( 2,314,000 A 3,000
EETEHED 1,221,000 1,221,000 0
ANEHEHD 1,090,000 1,093,000 A 3,000
F K B 2,341,000( 2,221,000 120,000
B 220,000 220,000 0
TRE 500,000 500,000 0
B {EERRE 630,000 510,000 120,000
ISR 300,000 300,000 0
TR 200,000 200,000 0
HFEmE 400,000 400,000 0
FER 8,000 8,000 0
g =] 3,000 3,000 0
fAmE 60,000 60,000 0
1ZHEE 20,000 20,000 0
F E B 8,186,900( 6,492,000 1,694,900
EQEESSle) 541,300 512,000 29,300 h L7 =5%%
BULHIFEDD 400,000 400,000 Ol|aiEs
ILEGES | BCMEAD ] 340,000 433,000 A 93,000|cB - & - MRIT
1 RERRGERE - BIRK 350,000 350,000 O|ZRERS > T« 7HA RDE
BCEIRBFESEZE 70,000 186,000 A 116,000
BUCYIEXRE 50,000 50,000 O|EE=mPsix
100km>-2.07 A0O0> 20,000 20,000 O|aiEse
XFEDOD 30,000 30,000 Ol|aiEs
PIFvS 100,000 100,000 O(pU—=>2 - 7ILI\A &}
FhEmEFEHATT 150,000 200,000 A 50,000
M-YIBEDIS>RITT 83,000 83,000 O|H/EERE
JEXRI1 71,000 71,000 O|HE®E=RE
=D (EA4-90J1Ab2017 749,000 749,000 O|H/EERE
AFAZ 1 ETDD 500,000 368,000 132,000 |H/EERE
HUGY-} i 148,000 148,000 OpPB/NRT7>FFS a v HBRE
(F 2 (FRUNFERSEIR 200,000 300,000 /A 100,000 (F ot
(D (FEERIVAVAL-) 200,000 200,000 O|=paE
(Fo(FEEEE 700,000 0 700,000 |5%E, BRE
<TOMHESBESF 300,000 30,000 270,000 | #l5eFxErlE
BIRFEIEEEE 446,000 386,000 60,000|FMS> A
=B HIY - NRIVEEE 199,800 0 199,800
159-3y MNRFEEZE 126,000 326,000 A 200,000 |5 ESIEE
MEIN\>>T LY b 100,000 0 100,000
N—T7+420FF 712,800 0 712,800
EIRIFBHFREEITEES 100,000 50,000 50,000 |&i8%
HBHITRIR - FHEARFTTEE 1,500,000 1,500,000 0| EMBRMEANES
g2 #H &£ 1,156,000( 1,156,000 0
[HAB IR 60,000 60,000 0
JbBEER Y CIREETE 165,000 165,000 0
AIR—Y T EEGEER 662,000 662,000 0
Pl LB ER RS 50,000 50,000 0
= H[ASED S 30,000 30,000 0
I+ZELLTDE 10,000 10,000 0
BRSO 7V EE RS 10,000 10,000 0
GHRZEERT v — 5 —ERES 10,000 10,000 0
I7 - ROAR—YIRDS 5,000 5,000 0
HIEBHEERZRS 10,000 10,000 0
It REBmEEHREENRZES 3,000 3,000 0
Ni=E=y 5,000 5,000 0
FHTD S D S EIESE 36,000 36,000 0
SinaaidE 100,000 100,000 0 =
JAEm * FDFAFE
Tt A B 4,640,000(4,640,000 0] A,
FRBEAGR 620,000] 728,000f A 108,000 ###t540000 5EAB80000
REET & 240,000 0 240,000
¥ " H 10,600 5,700 4,900
B OE & 0| 500,000| A 500,000 peszEmse
a 5 30,240,000/ 28,851,000 1,389,000
PN ] 14 SR =51 Re
30,240,000/ L 30,240,000 = 0mM



